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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 3026162488
Option 1 ID : 3026169950
Option 2 ID : 3026169952
Option 31D : 3026169949
Option 4 ID : 3026169951
Status : Answered
Chosen Option : 4
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Question ID : 3026162415
Option 11D : 3026169657
Option 2 ID : 3026169660
Option 31D : 3026169659
Option 4 ID : 3026169658
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Question ID : 3026162448
Option 11D : 3026169789
Option 2 ID : 3026169792
Option 31D : 3026169791
Option 4 1D : 3026169790
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Chosen Option : 4
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Question ID : 3026162469
Option 11D : 3026169876
Option 2 ID : 3026169873
Option 3 ID : 3026169875
Option 4 ID : 3026169874
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Chosen Option : 4
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Question ID : 3026162481
Option 1 ID : 3026169924
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Question ID : 3026162420
Option 11D : 3026169679
Option 21D : 3026169678
Option 31D : 3026169680
Option 41D : 3026169677
Status : Answered
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Question ID : 3026162464
Option 1 ID : 3026169855
Option 2 ID : 3026169853
Option 31D : 3026169856
Option 4 ID : 3026169854
Status : Answered
Chosen Option : 4
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Question ID : 3026162485
Option 1 ID : 3026169939
Option 2 ID : 3026169940
Option 31D : 3026169937
Option 4 ID : 3026169938
Status : Answered
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Q.9 The SI Unit of electric charge is i
Ans X" 1. Ampere

Chosen Option :

/X 2. Newton

+ 3. Coulomb

X 4. Joule
Question ID : 3026162466
Option 11D : 3026169862
Option 2 ID : 3026169864
Option 3 1D : 3026169861
Option 4 ID : 3026169863
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Chosen Option : 1
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Question ID : 3026162462
Option 11D : 3026169846
Option 2 ID : 3026169848
Option 3 ID : 3026169845
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Question ID : 3026162444
Option 11D : 3026169774
Option 2 ID : 3026169773
Option 3 1D : 3026169775
Option 4 ID : 3026169776
Status : Answered
Chosen Option: 3
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Chosen Option :
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°é1 Name the first Indian bank to cross Rs 5 trillion market capitalisation.
Ans x 1. PNB

v 2 HDFC

# 3. IDBI

X 4 ICICI
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Question ID :
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Chosen Option :
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Question ID : 3026162403
Option 11D : 3026169610
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Option 31D : 3026169611
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Chosen Option : 4
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Question ID : 3026162435
Option 11D : 3026169738
Option 2 ID : 3026169737
Option 3 1D : 3026169739
Option 4 ID : 3026169740
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Question ID : 3026162454
Option 11D : 3026169814
Option 21D : 3026169815
Option 31D : 3026169816
Option 4 ID : 3026169813
Status : Answered
Chosen Option : 4
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Question ID : 3026162424
Option 1 ID : 3026169694
Option 2 ID : 3026169695
Option 31D : 3026169696
Option 4 ID : 3026169693
Status : Answered
Chosen Option : 1
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Question ID : 3026162413
Option 11D : 3026169651
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Status : Answered
Chosen Option : 3

Q.2 The history of iron and steel industries in India began with the establishment of Tata Iron and Steel Company in

0

Ans X 1. Kerala
& 2 Odisha
< 3. Mumbai
« 4 Tharkhand

Question ID : 3026162495
Option 11D : 3026169979
Option 2 ID : 3026169978
Option 3 1D : 3026169980
Option 4 ID : 3026169977
Status : Answered
Chosen Option : 2
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Question ID :
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Option 41D :
Status
Chosen Option
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oéz Name the tissue present in the inner lining of Trachea.

Ans X 1. Unstriated Muscles
/< 2. Squamous Epithelium

/< 3. Cuboidal Epithelium
« 4 Ciliated Columnar Epithelium
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Status :
Chosen Option :
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Ans 1. 1946
2. 1957
3. 1947
4. 1956
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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Question ID : 3026162449
Option 11D : 3026169793
Option 2 ID : 3026169796
Option 3 1D : 3026169794
Option 4 ID : 3026169795
Status : Answered
Chosen Option : 2
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Question ID : 3026162404
Option 11D : 3026169615
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Option 31D : 3026169613
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Status : Answered
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Question ID : 3026162458
Option 11D : 3026169829
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Status : Answered
Chosen Option: 3
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Question ID : 3026162433
Option 11D : 3026169730
Option 2 ID : 3026169729
Option 31D : 3026169732
Option 4 ID : 3026169731
Status : Answered
Chosen Option : 2

Q.2 According to the recent guidelines of ICC, what is the penalty given for Ball Tampering in Cricket?
9

Ans 1. Ban only for ODIs

2. Permanent ban

3. Ban only for test matches

4. Ban for 6 tests and 12 ODIs

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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Option 11D : 3026169721
Option 2 ID : 3026169723
Option 31D : 3026169722
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Status : Answered
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Option 11D : 3026169878
Option 2 ID : 3026169877
Option 31D : 3026169880
Option 4 ID : 3026169879
Status : Not Answered

Ans X1 Qelle doeesl
v 2. G G048l
X 3. Gia 904l

X 4 QAR 64l

U gee1 gace 6080I6a PR add GeEY cRIREN, ©F d9ge afealq |

Question ID : 3026162459
Option 11D : 3026169836
Option 2 ID : 3026169834




Option 31D : 3026169833
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Question ID : 3026162478
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Option 11D : 3026169626
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Status : Not Answered
Chosen Option : --
Q.4 Halides in which halogen atoms act as a bridge between two atoms of the other element are called:
6
Ans X 1. polymeric hydrides
« 2. polymeric halides
/< 3. electronegative halides
& 4 covalent halides
Question ID : 3026162475
Option 11D : 3026169900
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Chosen Option: 3

0{34 galiE @didl FIIAER, A9Ig sTgen A9 36 @laelg 15 G @fF a4 | gl 6aeiggel 908 Ark 6760 ?

Ans 1. 8:45
X2 3:15
W3 0:15




X 4 8:15

Question ID : 3026162446
Option 11D : 3026169781
Option 2 ID : 3026169782
Option 31D : 3026169784
Option 4 ID : 3026169783
Status : Answered
Chosen Option : 4

D R C

1% P550 gREr AnFTig 999 Baag deas ABCD { 2leens PQRS § 8156 REI9iRll 2g0IE 22191829 G0
CRIGET® 6298 162m?1 PR o 654l Aeosn ceaf

Ans X-L 26
V2 18

X 3 \/486
X 4 162

Question ID : 3026162422
Option 11D : 3026169688
Option 2 ID : 3026169686
Option 31D : 3026169687
Option 4 ID : 3026169685
Status : Not Answered
Chosen Option : --

Y adua Aeda dg90Ip @ JEREIIR CIGIR 62aE:
Ans X 1. eegisq (91899) 2aIQie
X 2 ZIRRARRG 21g 2Ng

X 3. ZIReln UIg
V4 6QI9m Guledq

Question ID : 3026162474
Option 1 ID : 3026169895
Option 2 ID : 3026169894
Option 31D : 3026169893
Option 4 ID : 3026169896
Status : Answered
Chosen Option : 3

Q‘is The World Health Organisation’s (WHO) Goodwill Ambassador for Hepatitis in the South-East Asia region is:




Ans X 1. Salman Khan
« 2. Amitabh Bachchan
/< 3. Rishi Kapoor
< 4 Shah Rukh Khan
Question ID : 3026162487
Option 1 ID : 3026169948
Option 2 ID : 3026169945
Option 31D : 3026169947
Option 4 ID : 3026169946
Status : Answered
Chosen Option : 2
as tissue is mainly composed of dead cells.
Ans  of 1. Sclerenchyma
/< 2. Parenchyma
/< 3. Chlorenchyma
/< 4 Collenchvma
Question ID : 3026162476
Option 11D : 3026169904
Option 2 ID : 3026169901
Option 3 ID : 3026169903
Option 4 ID : 3026169902
Status : Answered
Chosen Option : 2
°é5 cng J9Eel GRER AEYQl 0w d3q IQIe da6a UIBER AERIER @ ARIAY @FRIa?
Ans — x
X 1. GeAdIR 289 e
X 2. 64ImIQ CHIEqy
W 3 Eleegiaga ek
27X 4 @lelioNld JIE
Question ID : 3026162461
Option 11D : 3026169841
Option 2 ID : 3026169843
Option 3 ID : 3026169842
Option 4 ID : 3026169844
Status : Answered
Chosen Option : 3

% gl 93 QIEIRIE QTS JeNFIR! SIPER @9 d98 6aREE ?
Ans X1 99d efiq
X 2. 4949 Sliamer




v 3 caade A6
X 4 Ged 661963

Chosen Option :

Question ID : 3026162491
Option 11D : 3026169962
Option 2 ID : 3026169963
Option 31D : 3026169961
Option 4 ID : 3026169964
Status : Answered
Chosen Option : 3
Q.5
s V7—3 =19,9262 (?) @ Y 62697
Ans X" 1. 204
X 2 534
o 3 484
X 4 384
Question ID : 3026162402
Option 11D : 3026169608
Option 2 ID : 3026169607
Option 3 1D : 3026169606
Option 4 ID : 3026169605
Status : Answered
Chosen Option: 3
.5 = =
%° HNO; @ 2isafie 990 29¢ @o3!
Ans of 1. 631
X2 62u
X3 6lu
X 4 60U
Question ID : 3026162468
Option 11D : 3026169871
Option 2 ID : 3026169872
Option 31D : 3026169870
Option 4 ID : 3026169869
Status : Answered

1

7 carapuLT q @O0 6RI9YS FAULIREIN?

Ans  of 1. COT4PULT
X 2 CC2TASULT
< 3. C2TAPGLT
X 4 C3T4PULT

Q.5 2@ ANIMATION @ A2I4ATION @6 el@gs @aldlima 99° HOSPITAL ¢ H2S4ITAL Wl6s 6@iQga aoaimald,

Question ID : 3026162439
Option 1 ID : 3026169756
Option 2 ID : 3026169755




Option 3 ID
Option 4 ID
Status

Chosen Option

: 3026169754
: 3026169753
: Answered
01

8

Ans X1, Z2.00
K2 31.50
V33111
K 423,00

Q.5 1950 6q 69lIF1 GRag 95, @64 QLA 23% AR TN | 30% AN JI99lg 69 919 FEARIY 6960 FQIESI 9597

Question ID : 3026162411
Option 1 ID : 3026169644
Option 2 ID : 3026169641
Option 31D : 3026169642

Option 4 ID : 3026169643
Status : Not Answered
Chosen Option : --
Q.5 gl PIsie CIRE], QIRDER SIFIE SISEIGE CIE 40 STISISRIR 1 AIFIRE RRYIE SEIGE! |, ST 24 2lag
aQlaIpm! |
Ans X 1.1998-99
v 2 1985-86
X 3. 2000-01
X 4.1997-98
Question ID : 3026162500
Option 11D : 3026169999
Option 2 ID : 3026169998
Option 31D : 3026169997
Option 4 1D : 30261610000
Status : Answered
Chosen Option : 3
Q.6 o4 9d ger QPG G644 GBI CI'E FEAR 29 OIE ¢4 2R PRIl FEAIF0IR OIE 9F U860 AIFD AI'FR FEd AIFE
AL 1.5 Y6l 6891 QUFIFT PEFIFR THAL EREC?
fns X1 4899
X2 44ed
V'3 4504
X4 4299
Question ID : 3026162416
Option 1 ID : 3026169664
Option 2 ID : 3026169662
Option 31D : 3026169663
Option 4 ID : 3026169661
Status : Answered

Chosen Option : 4

Q.6




1 The book titled 'The Hit Girl' is the autobiography of:
Ans X 1. Sridevi
/< 2. Rekha
/< 3. Asha Bhosle
« 4 Asha Parekh

Chosen Option :

Question ID : 3026162486
Option 1 ID : 3026169944
Option 2 ID : 3026169941
Option 3 ID : 3026169942
Option 4 ID : 3026169943
Status : Answered
Chosen Option: 1
Qé" 93 DS CRBIIR PR PLAER ALERE ROE | 6969 aITE 0l62 G |
Ans X 1. gellieRl
X 2 ¢iEige
X s asliow Jewsl
v - Geqiqia
Question ID : 3026162497
Option 1 ID : 3026169987
Option 2 ID : 3026169988
Option 31D : 3026169986
Option 4 ID : 3026169985
Status : Answered
Chosen Option : 3
.6 =
%° 24, 32 99° 809 A.91.9 620F
Ans  of 1. 480
X 2 510
X 3420
X 4. 460
Question ID : 3026162401
Option 11D : 3026169603
Option 2 ID : 3026169604
Option 31D : 3026169601
Option 41D : 3026169602
Status : Answered

1

Ans x 1 Gi@
v 2 Gael Gqla
X 3 OQug a3

Qf Yulleiz] exlde FRIE ISR VIS ORAT FIRI FITIQ LIRS 3 [=pallalz! WU Dl




X 4 GREUeR

Question ID : 3026162498
Option 11D : 3026169989
Option 2 ID : 3026169991
Option 3 1D : 3026169992
Option 4 1D : 3026169990
Status : Answered
Chosen Option: 1

%° 9% G960 6aseIc Gge PER?

AVA

Ans 1. o

2. 10
3.9
4.7

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 3026162451

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026169801
3026169804
3026169803
3026169802
Answered

2

X2 101
<350
v 4 43

Qé6 a8+ o0 96a =, '+ 400 R6a X, X' g0 @6a ‘—'— o0 @60 "+, 666¢ 25+ 2 18+ 9% 0 Q ¢l EwEe?

Ans x 1. 40

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

3026162437
3026169745
3026169748
3026169747
3026169746
Answered

Chosen Option : 4

Q6 21,32,22,34,21, 32, 27, 28, 29, 32, 35, 35, 32, 37 QAIARYELR erIAl Tddel @0

Ans K127
X231
V3 32
X 433




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

3026162421
3026169682
3026169681
3026169683
3026169684
Answered

3

% 1 kwh =

A X 1.36x107]
X2 36x10%]
X 336x10"]
4 36 x10°]

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

3026162460
3026169840
3026169837
3026169838
3026169839
Answered

Chosen Option : 4

GHewan 50% mll 96 Fa1E @ATea T4 25% mia Q9131 696w aIntial §0 Gga gmy 6aee?

Ans of 1. % 62,500
X 2 362,700
X 3. 62,000
< 4 60,000

Q.6 Geog veem 21662 IR ARFa 5213 9081 6d 98l GaIf @8wien T 50,000 986 155 2sgis @F 9% aem, ARE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

3026162441
3026169764
3026169763
3026169762
3026169761
Not Answered

Ans of 1. 52m
X2 26m
K3 52m
X 4 520m

067 A3 Yol ensto 9Beesl 5200 m/s §9, 6969 1000 @& gRIedlaas! 0Ezlem Gosf 694 6060 6397

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

3026162463
3026169850
3026169851
3026169849
3026169852




Status : Not Answered
Chosen Option : --

1
Ans a1 ¢T3 6INR

v 2 GQ ol
X 3. G ongl gengy
X 4 glgl fom

Q.7 Gq'ee0aidain B9Rin 02 @ A AT @87(ITLOS) 60, F01006 aI9en Ggs 6a9I60 g2d @Iosle AFgI?

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

: 3026162489
: 3026169956
: 3026169954
Option 31D :

3026169955

: 3026169953
: Not Answered

Chosen Option : --

Q.7

Ans < 1. 2 [WISkEmG 64q ¢
2.

X 2 19 9GTIERE 69951

X 3. 991-69Q 6496

v . SRR 62qel

2 N=3Q nN=249a s, DIEMET 9! CladlEt Tnes! %ﬁ 62wl 696!

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

Status

: 3026162467
: 3026169867
: 3026169868
: 3026169865
: 3026169866
. Not Answered

Chosen Option : --

% 9% 6841 SRR 2UYS 687 CIRGIF FITS:

Clg], @lel, Gl

Ans.1OO
X'O

rm@ O




Question ID : 3026162450
Option 1 ID : 3026169799
Option 2 ID : 3026169797
Option 31D : 3026169798
Option 4 ID : 3026169800
Status : Answered
Chosen Option : 4
047 1@ B8 998Q 8% 6298 06 | 90 9RdQ ARl 925 ml, 69860 €60 TRFIEIR &6 2187
Ans X 1. 73,5 ml
X2 725ml
X 3 555ml
W 4 74 ml
Question ID : 3026162410
Option 1 ID : 3026169640
Option 2 ID : 3026169637
Option 31D : 3026169639
Option 4 ID : 3026169638
Status : Not Answered
Chosen Option : --
Q7 == — — — ]
5 GEMYY @@ Wa IS Y O YIRS
Ans fm) < —
1. HCUH%QHIGQIQ%WIH@@I@Q
2. CH, COH=> R2I6RIR>2I0IRGInR
3. C3H,COH>PUGIERIR> QICUARCHIRG
4. CZHECDH%EQIE{GIEIIE{QIQ%E{QI{]IH@‘QIW
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 3026162473
Option 11D : 3026169889
Option 2 ID : 3026169890
Option 31D : 3026169892
Option 4 ID : 3026169891
Status : Answered
Chosen Option: 3

Ans of 1. FUN
X 2 FMT
X 3. FRN
X 4 FZN

067 92 348 6919 62 RAN @ RUN 669 6RSIDN, 699 6919 SIRIER FAN €06 6a6ia ensiide?




Question ID : 3026162429
Option 11D : 3026169714
Option 2 ID : 3026169713
Option 31D : 3026169716
Option 4 ID : 3026169715
Status : Answered
Chosen Option : 1
Q.7 Grigipe @aigEe AGgEe 993 990 18 eady goyg 21 GIeea BIgand @9ael 999raIn(gEa) ou @ag!
7
@Y
AGFere 9gde oolmIee aald 629 Jin, oas SRITE 6a%l ZIRaNR
earae gée:
(1) 9604 6xITE € ol Gie FaIg Qg
(2) gemsl @00 VAL 94910 9aid celRites QI
Ans X 1L 6Rew @dd°TR (2) g dLIEl @eR
— —— —
v 2 (1) @G (2) 6l6ET 2IQdad @6a /lE
X 3 26 (1) 9e° (2) Agdas @69
X 4 BEeR (1) 2y dRiEl REG!
Question ID : 3026162432
Option 11D : 3026169727
Option 2 ID : 3026169726
Option 31D : 3026169728
Option 4 ID : 3026169725
Status : Not Answered
Chosen Option : --
Q.7 ey = —
s ¥ egdlIQ dordl 99 well @l 8,17, 33,67, 133, ?
Ans X 1. 210
X 2 260
X 3300
v 4 267
Question ID : 3026162436
Option 11D : 3026169741
Option 2 ID : 3026169743
Option 31D : 3026169742
Option 4 ID : 3026169744
Status : Not Answered
Chosen Option : --

Q.7 geiga aeigl 111112 pm. 621929 9AI060, A9iadl 6 56 @9 Aue 98 629291 98Q SaI¢ 6R6e ?
9

Ans X 1. 91.4°
v209]16°
7% 8.18] 0




X4 9]15°

Question ID : 3026162419
Option 11D : 3026169674
Option 2 1D : 3026169673
Option 31D : 3026169676
Option 4 1D : 3026169675
Status : Not Answered
Chosen Option : --

% sec A(1— sind)(secA+ tand) @ R4 629§

Ans Jy 1
X2
<3
X a4

[ R

=

Question ID : 3026162425
Option 11D : 3026169698
Option 2 ID : 3026169700
Option 31D : 3026169699
Option 4 ID : 3026169697
Status : Not Answered
Chosen Option : --

Q.8 goq <48 ofig gog 9¢ @088, 69 o9l el gEiel Gesa 270 Se 9R 068 19° aITiten a9l Aeia Faoie Saea 90 S
1

QRS earlg el Gog gE /asd
Ans x " ‘EF
v 2 ge0-adda
P Gl

X 4 oFe-asia

Question ID : 3026162453
Option 11D : 3026169809
Option 21D : 3026169811
Option 31D : 3026169810
Option 4 1D : 3026169812
Status : Not Answered
Chosen Option : --

A8 Gaceq, @2 goa fe, A°R96a 9aA AIRela 2RI GIER & 6alE CeRZieR ?
Ans 1. @mdl 6l

X 2 @R616Te 6alq)

X 3 daiE ag

v 4 96 aaql

Question ID : 3026162483
Option 11D : 3026169932




Option 21D : 3026169931
Option 31D : 3026169930
Option 4 1D : 3026169929
Status : Not Answered
Chosen Option : --
Qé8 fefmgle Saaqie cug caet/ee gee 0a/gm?
A 6616 219 QIZl 29 NIPER S5 TP (918 g2) £9-99° 98 Lae OH™ 2lgg (91g @8 9de a6l
99908 994 NaOH, KOH
B 6dlfd @0 2% 2rde fIeeR 960 BIsAlaiag (916 ge) §49 99° o¢ @°eia OHT 218G (918 adql) ega
@601 9ILR4 929 KOH
Ans =
X 1. eugl 939y A 99° B 40
X 2 6090 B 6207 409
X 3 6R90 A ceRf 40X
V4 90 9294 A 99° B am
Question ID : 3026162471
Option 1 ID : 3026169883
Option 2 ID : 3026169882
Option 3 ID : 3026169881
Option 4 ID : 3026169884
Status : Not Answered
Chosen Option : --
Q.8 Griamysl ea(gee) 1e° AU RngEe YRR 093 1e° UE 9eig G2IF GIFR BgeRs Rpgs RaHa(ge)
4 gageogl
@A
Am 7 GE6w "ggeriicn BIRing @el 998 7|
Q@eraie:
I Zg9es 2I90¢ S9un 198 |
I 7 @0 st gga 281
Ans — —- e
K IR I 6Qled @U9°elq 2IQUad QEa QIF|
W 2 6R9F RAdPEIR 1 gl @ell
X 3. @6kl 9990 AGUAs K6
X 4 69 dd°EIo 1T 2gdad @6l
Question ID : 3026162434
Option 11D : 3026169736
Option 2 ID : 3026169733
Option 3 ID : 3026169735
Option 4 ID : 3026169734
Status : Not Answered
Chosen Option : --

Q.8 90 @0 @ 6015\ 8 kg Beea 9g PU6R, 2 62694 CIF QY eI | 9Tl 9ga 6ea 5 ms g 9 msT adis 98
@2l | geald 621989l 903 OGFId 69657

Ans of 1 16N




X2 20N
X3 165N
X4 19N

Question ID : 3026162457
Option 11D : 3026169825
Option 2 ID : 3026169828
Option 3 ID : 3026169826
Option 4 ID : 3026169827
Status : Not Answered
Chosen Option : --

Q.8 Ggfige ggen. caita @99y 19° RIg A99ea @8, geF 9B @al | 19° || Sua9d | 2108 Fo10 @8Rig cEe. ced
FEE 99610 JR6UNIER §F 26T |

amei:
Zes €al41E 9o afedly aGl 9een, g €9 2680 GOl aIEiel 998 |
o6 gFe:

| €890 1960, el 694160 4712 FIOTINg 6Aats @RItRaRs 1 Side (8587 dghe page Bite
SRR

Il QL 6mseR A64I6a 92 RI9TI0, &R g6 62829 €F OIg Be 5291

e X ceee 6@ Il 9@ 058
X 2 a0ed 0@ | 99° || 9@ 08
X 3 124 1l 6xladE 9@ 2ee

v 4 6aeR 6 | 9@ QR

Question ID : 3026162430
Option 11D : 3026169718
Option 2 ID : 3026169720
Option 31D : 3026169719
Option 4 1D : 3026169717
Status : Not Answered
Chosen Option : -

T FoRge crIg 6a9e 9Ead QEIPE?

" 1000

Question ID : 3026162405
Option 11D : 3026169618




Option 2 ID : 3026169620
Option 31D : 3026169617
Option 4 ID : 3026169619
Status : Not Answered
Chosen Option : --
Q.8 coiF cag o e@gag T1805 60 7 0 F606l 24% 06 9981 8% QI Q9P I9, 69 56E0 TR B8 Q3%
GG
Ans X 1. 2375
X 2. 32665
X 3. %2455
v 4 32565
Question ID : 3026162412
Option 11D : 3026169646
Option 21D : 3026169648
Option 31D : 3026169647
Option 4 1D : 3026169645
Status : Not Answered
Chosen Option : --
Q8 & P SociS St
9 Qelek! QEIKIE)Y PYYEe ¢1alE ERWG WY @Rl
A B C D
Ans x 1. A
X2cC
V3D
X4+ B
Question ID : 3026162447
Option 1 ID : 3026169785
Option 2 ID : 3026169787
Option 31D : 3026169788
Option 4 ID : 3026169786
Status : Not Answered
Chosen Option : --
.9 =
Qo FAAIz6 28 9° R 28 @It dale 2e's?
Ans o 1. BRI 6<m
X 2 QigdEq BrIge)
X 3. Qleglicnld QrIge
v i aeq e
Question ID : 3026162465
Option 11D : 3026169860
Option 2 ID : 3026169857
Option 3 ID : 3026169859




Option 4 ID : 3026169858
Status : Not Answered
Chosen Option : --

Q.9
1

Ans

2oie)@ §euel 98 QG9lg 2gas 69malrd |

X 1. 6RIFeE 20eql
X 2 2ReH e
v 3 Gena eee
X4 2l GaQ

Question ID : 3026162480
Option 11D : 3026169917
Option 21D : 3026169919
Option 31D : 3026169920
Option 4 ID : 3026169918
Status : Not Answered
Chosen Option : --

Ans

X 1. 9.25 km/
v 2 9.75 km/h
3 9.5kmh

X 4 9.80 km'h

Q.9 cgra 9ogr Gaea 90km GRG! J9Ig @68 O CIPR 12 B9 Ane 6652 19° 6960 Ager Josa eig 91 7.5 a4l
@3 | Goerea Gul SIFER 696 68697

Question ID : 3026162414
Option 11D : 3026169655
Option 2 ID : 3026169656
Option 31D : 3026169653
Option 4 ID : 3026169654
Status : Not Answered
Chosen Option : --

Ans

Y Gq oI 6297 aIaea gar A9le 698 gmI?

< 1. 2lRe 2l
X 2 6gel dauig

X 3 SIgael
v & QIgl 2Bag

Question ID : 3026162484
Option 11D : 3026169934
Option 2 ID : 3026169936
Option 3 1D : 3026169935
Option 4 ID : 3026169933
Status : Not Answered
Chosen Option : --

049 QIS1G 6269, 9608 RFsR, 'Y 6298 GIF AIZIFS RAIe gBlIT QIdl Gad QI9en geadE 480 AEe?




Ans X 1. @l

V2 ge
X3 g
X 4 gacasll
Question ID : 3026162426
Option 11D : 3026169702
Option 2 ID : 3026169703
Option 3 1D : 3026169701
Option 4 1D : 3026169704
Status : Not Answered
Chosen Option : --
Q.g o W ] b
5 €98 @eldly "didie aelal” guEIdhd:
Ans 1 QEIgQ
2. GRIGRT
3. gzl
4. EREIRQ)
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 3026162490
Option 11D : 3026169960
Option 2 1D : 3026169958
Option 3 ID : 3026169957
Option 4 1D : 3026169959
Status : Not Answered
Chosen Option : --
Q.9 - < =
6 ERCIG dRLEEE drid @It @lEl 4ee dele?
Ans - X 1. 694l
v 2 o
X 3. Q4
X 4 2Ie9al
Question ID : 3026162456
Option 11D : 3026169823
Option 2 ID : 3026169822
Option 3 1D : 3026169824
Option 4 ID : 3026169821
Status : Not Answered
Chosen Option : --
Q.9




GORS FIQ 690 @RT UYQ 28R 649 Aia 6a1a ?
g4
'‘a QR Ada e |
a8 goe:
. x2+ax+1=0

Il @@x=1

Ans of 1. QEISE YD | 99° || Qeld
K 2 6o ey II Jeald
X 3 6a96 999 I geaa

X 4 9294 1 A9 I 6xl6dE ac2| gew

Question ID : 3026162443
Option 11D : 3026169772
Option 2 1D : 3026169770
Option 31D : 3026169769
Option 41D : 3026169771
Status : Not Answered
Chosen Option : --

Q.9 geIE oRen TRIFIEE IR, 12 Gél DERIERE, 15 G4l @48 95° 15 G4 €A% 990 903 8 54 BRl, 6avw 98T §6d

8 gueaed e Q@ @4l 4018 BERITAIR U040 GBI Co6R 6260 o Jnl gaf FREg @6 Jds Q9F QIE?

Ans X1 9
X225
V'3 10
X448

Question ID : 3026162452
Option 11D : 3026169807
Option 2 ID : 3026169806
Option 3 1D : 3026169808
Option 4 ID : 3026169805
Status : Not Answered
Chosen Option : --

Y GgRge 66 AIRisa UEE 8R-689R CHICINERRIR 29T
fns X1 qdiee

X 2 caee

W 3 SIfiRQIg

X 4 2Iggeas

Question ID : 3026162496
Option 11D : 3026169982




Option 2 ID : 3026169983
Option 3 ID : 3026169984
Option 4 ID : 3026169981
Status : Not Answered
Chosen Option : --
%J G2l 91999l 99 9eg 9e° Add a0g 69, GgRYC RIQ 669 99 989 6eRITn aduId 2163
a4:
A, C, E. G99° | 66l ¢lIFen BRIceings| @940 QIgen & 80I6aiag?
QBEY:
1. A 990 6819 2IFll 6Q BRIETIRR 99° A 99 E BCl6aiag |
2. C¢186a 62 8¢l 62198 99° C 9o | 801 c2laf!
Ans =
X caeq 99y 1 & geaq 26e]
-
X2 99y 199° 2 99 9ureq 9e2d Qus |
—
X 3 caee o9l 2 § 9c2d 2Iee
\, 4oeaey 1 ve° 2 e QIgfEs De21E 25D |
Question ID : 3026162440
Option 11D : 3026169757
Option 2 1D : 3026169760
Option 31D : 3026169759
Option 4 1D : 3026169758
Status : Not Answered
Chosen Option : --




